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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
1. - Answer the following as directed :
1x10=10
for SEpR were fraiEes T et

(a) Cost accounting is a tool used by
management for :
(Fill in the blank with appropriate word)
Tesiivna I ZBI7F< 2e SifRbIEa 2kl Taze
@y ifze |
| (G73& *Feq Tl IR 939 )
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(b) Aggregate of direct costs is referred to i (d) Abnormal lass of material is charged

2SI cost. f to costing Profit and Loss Account.
(Fill in the blank with appropridte u_)ord) I J("izz RhetheithalS aterieniic it eton
mwwmwf; [l ﬁcﬂwwwrﬁzﬁﬁﬁs%ewww

. (ATGRTTE I Al @O f25i7e Seve 311 2 |
(c) The difference between attendance time (Efes! e @ ePrey fo3ih)
and work time is known as . | (e) Idle time arises only when workers are
ToAFoT T e T AT NS "NW paid on _____ basis of wages payments.
1 o T (Fill in the blank with appropriate word)
_(i) motion and rating | O Ty Wi T8 0T e
| TRE R 2|

5% @ 29 (GAY@ %70 T 312 279 )

(i) . time and work Variable cost per unit remains constant.

s (State whether the statement is true or
HAZ I B3 ‘
; : | false)
(i) motion and time | ARSI T elfS (oNsT I ﬁga @ A
SIS iR o g - (Gf&o! 797 (A w7y f74))
(iv) job and work (g) Contract costing is also known as
‘ ) pifofes Berlle IRF Gl T
DI SR <of
(Select the correct answer) | (i)  process costing
(0F Oeweht A% Sfea) | eifEFaisre Teslve U f2piest
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(i)

(1) terminal costing

Tifefeies Sede 1 EZoits

(iii) job costing <D

R Ber 7 Rl

(iv) batch costing
FfRSTS Beriva 7 fR5ieet

(Select the correct answer)

(i Cewo! R Cired)

In job costing, the cost of an incomplete
job is termed as

FAWe A JTS, TP T oI

&9 el A |

(Fill in the blank with appropriate word)
(R #9737 31T 999 1)

Overtime work is to be paid for at
the normal rate.

oWl 41 2 |

(Fill in the blank with appropriate word)
(CE =173 e} 312 o3 1)
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Answer the following questions :

Wm@ﬁa@@%ﬁn

(b)

()

(d)

(e)

What is notional profit ?
AR oo & 2

2x5=10

‘&, (a) What is unit cost?

(o T A 7 2

Write two benéﬁts of time and motion

study.
Y O Sif s 70! 3RA B |

What is meant by semi-variable

overhead ?

S iR A Geifee A Wit (@ 2

Write two features of contract costing.

oo BerAe TRE 75 (e i

State the meaning of overtime.

wfefe sea sid &9 |
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Answer any four of the following cﬁ;estions :

5x4=20

Wfﬁmm«ﬁ@mrwﬁﬁm@m%m

(@)

- (b)
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Mention five benefits of cost accounting.
Terlive IR ROIEeR Ay Rat T

From the following information, prepare
a cost sheet showing cost per unit and

profit for the month of January, 2024 :

TS 1Al SAPTRA o, &S (aifoa Bestme 7
Ul GRERT 2024 W Ao RdfEe IR 92
GRAT ARFI>T AES [
Raw materials consumed
G5! AT TR

Direct wages

oy NG

Machine hour worked
e 0 T

3 80,000

T 48,000

Machine hour rate
3ifEs T AT
Office overhead
I Toifzw T

Selling overhead per unit
REeie I 2fs (siiFe

T 4 per hour

10% of works cost

8,000 hours

(c)
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Units produced
30 eifte o
Units sold 3,600 units @ ¥ 50 each
Jo Rl

4,000 units

Following information, relating to a type

of raw material, is available: 3+2=5
oo [l OAPTR G GH°R (S5 ANTE (09
oS §
Annual demand 6400 units
AR Hifewl

Unit cost : T6
(oG T

Carrying cost 25% of unit cost
qee

Procurement cost ¥ 75 per order
R2IESRESIE '

Calculate EOQ and number of orders

per annum.

EOQ el 1, 1900 IR T SHomiE 201
fgiRe =1 | '
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(d) Explain briefly the needs of labour cost
control.

& G W Ao 53 Dt 41 |

(e) Write five features of overhead cost.

TolfRS AR 5! @ |

(f) Write five differences between job
costing and contract costing.

()

March 1
FTONEs GeATH I3 WS Dnifeles Gesiive 2
4. Answer any four of the following questions : Mérch 4
10x4=40 |
were WAl 2EERS Repear bifaeie ©es & ¢ March 7
(a) Explain the factors to be considered
A M\arch 8
for installation of a costing system. o' an G Colla g
S SN\
Tl T8 7l Afol T CFa® s s 37 el
GoAMIFPTR A0 4 | ( 7 %)
:: , l:r
_ = ;
. ¢ o ’ -_ ’ ;" i /
(b) Explain ‘maximum level’, ‘minimu ,u :;; : Mau"c‘h 15
level’ and ‘re-ordering level’ of materials "~ ¢ Mg

stock maintained in an organisation.

&ﬁmﬁmﬁwqam@a

TR G IR 7Je - T R
=1
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North-East Manufacturing Company uses
rubber, which is purchased according to
requirement, from the market. Following
purchases and issues were made during
the month of March, 2024 :

928 GRDIRE FRIeCs AtaeH SR 99
IR Y[ IR A@ FF FE| TS 2024
59 W6 2SI T i [ieprz a2 ¢

Opening stock 2000 kg @ T S each
(SR o)
Issued 1500 kg
(Rife)
: Purchased 4500kg @ ¥ 6 each
(&) '
[ssued 1600 kg
(Rien)
Return by production 100 kg
department

(Issued on March, 3)

Tesive RSl 2[/ (F=e

(3 TMbe RfErpo)

Purchased 2400 units @ 6-50 each
(&) ,

Return to supplier 200 units
(Purchased on March, 4)

(SRR (FFR)
(4 6 T 1)
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March 24 Purchased 1,000 units @ < 7 each Hourly wage rate ¥ 7-50
(@) TGRE 9 &fS I ‘

March 26 I(sﬁf%(;d : 2100 units Rate per unit _ = 3-00

offs (569 29
March 27 : Purchased 1200 units @ ¥ 7-50 each | -
‘ (@) ' ‘ Normal time taken 24 minutes

March 31 : Issued 2800 units per unit

(=) A S (ot T FSIRE A

S | el e 0
ge Ledger by applying ST e AT Fefe Ceslme o9
@7 ©UAPTIRE 1 FIFO 7&fS s o7 %

AT TGoe <A 24w <1 | Actual output per week 150 units

A (2ifS YT AT GeoIWH)

Calculate the earning of the worker for

-

(d) What is meant by labour turnover e
" What would be possible effects of labour

S SGATE

d5.L N

; S a week under —
turnover on the cost of production ? i Wel
Explain. - 2+8=10 ot fi 49 SfFReee @ ﬂ\mmiﬁﬁﬁm
i OIS W [ 3o 2 WA oS e bl
TeAme A (@ G499 B 2O 2R A" 7 g (i)  straight price rate
O IR < | S ST S

(e) Follown?g are the information related (i) Halsay premium scheme
to earning of a worker for a week : :

b s eoifdise b sIee
T il PR <o MR R A AR | S :
oIS TTS ¢ | (i) ~Rowan premium scheme

Weekly working time 48 hours ; @l eslRie SibE e
Aldifes = TR -  2+4+4=10
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(9)

What is meant by machine hour rate ?
Mention the steps required to compute

machine hour rate. 2+8=10

e TR W A B @ 2 AEE w9
SIS AT AVCFAPTZ T 1 |

A product passes through two processes.
The output of process I becomes the
input of process III and the output of
process Il is transferred to warehouse.
The quantity of raw materials introduced
in to process I is 20,000 kg. The cost
and output data for ther month of
January 2024, review as under -

b1 GeAAS AN 95t Tesv el siceE
HAAAT T | A2 TV elfF A o/ wie <1

Teslifirs AR S Teriv A Gl Aw

IR T2 2 i St e Besfirs
AL A S ISR ZIT 91 27| el
elfeIere (361 W@ =BIE 20,000 [RIGiIab
,{mﬁwwtﬁ%m%m%wm w2
©5TS 2024 << SRR TR oR) TRy 2 ¢
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Process I Process II
Direct materials T 60,000 ¥ 40,000
Direct labour 7 40,000 ¥ 30,000
aorE &
Production overhead ¥ 39,000 ¥ 40,250
Tealiml Tofze W ‘
Normal loss 8% 5%
FelfE #Ho
Output 18,000kg  17,400kg
Tl
Loss realisation ¥ 2 per unit ¥ 3 per unit (
é’@’ﬁ‘l \

selling price per unit.

The company fixes selling price on end
-product at a margine of 20% on cost. Prepare
the Process Account and determine the

@I 20% A1S S T4 8o Faiwd -
Rt e Seatifine AR 24T €1 = | @i Rois!
orge 91T F9ICe Afe (Ao e o Fmfeel <=1
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(h) Following are the summary of
transactions obtained from the costing
records of Sri Ram India Limited :

TS AR e BT Sealve T TS

EERTIRE. KA @lie w2y fal 2@ 8

Purchase 7 2,00,000

&

Production wages paid ¥ 70,000

TesAms TGR mE

Stock issued to production order 7 80,000

Teor A AN [ . s

aopollega

Works expenses charged : J\a“f/ ':P_ \"\

to production 33 45,000 (Gl /4 \*)

wyE Bes [Reite PR < */
. \"' E; \ ‘.-"' . b’ f 1\

Finished goods transferred : N o :

from production orders 3 2,22.000 iy kU

Teolve SIGRE #[1 TR AN IS

Administrative expense charged

to. production ¥ 15,000

Teofed ReRies e 5 i

Work expenses outstanding 712,100

wi2ne s A
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Work expenses paid
= 7 2Aa
-Pass Journal entries for the above

4 (Sem-4/CBCS) HC 1/RC (CAC)/G 15

% 25,000

transaction under integral system of
accounting.

@R (FHTPTIR AR (194 Aafos STl
32t fEfRm |

12000




